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GUESS  PAPER 2011-12

CLASS : XII
 [ECONOMICS (030)]
	Time Allowed : 3 Hrs
	Maximum Marks  : 100


General Instructions : 
i) All questions in both the sections are compulsory.

ii) Marks for questions are indicated against each.

iii) Questions No. 1-5 and 17-21 are very short answer questions carrying, 1 mark each. They are required to be answered in one sentence each.

iv) Questions No. 6-10 and 22-26 are short-answer questions carrying, 3 marks each. Answers to them should normally not exceed 60 words each.

v) Questions No. 11-13 and 27-29 are also short-answer question & carrying 4 marks each. Answers to them should normally not exceed 70 words each.

vi) Questions No.14-16 and 30-32 are long-answer questions carrying 6 marks each. Answers to them should not exceed 100 words each.

vii) Answers should be brief and to the point and the above word limits should be adhered to as far as possible.

Section-A

Q1.
What is market economy?







1
Q2.
Define increase in quantity demanded.





1
Q3.
Why & how does the demand for sandwiches change in the school canteen when a new section of class XI is added?





1
Q4. 
Define revenue.








1
Q5.
When is a firm called price maker?





1
Q6. 
Explain how a production possibility curve is affected when resources are inefficiently employed in an economy.





3
OR

Distinguish between Positive & Normative statements.

Q7.
Total cost is not the same total of the marginal cost. Why?


3
Q8. 
State any 3 factors that are held constant for the law of demand to operate.
3
Q9.
Explain how fall in prices of the related goods affects the demand for the given good. Give example.







3
Q10.
Mention the various cases in which equilibrium remain same.


3
Q11.
The Maurya Sheraton Hotel, a highly acclaimed 5 star hotel in New Delhi, offers a discount of 30%on its room tariff in the off seasons. Using the expenditure approach analysis the impact of this discount for the hotel.
4
Q12.
What is supply schedule? How does fall in price of an input affect the supply of the good using that input?






4
OR

Explain the relationship between TR & MR curve firm which is free to sell any quantity its likes at a given price.

Q13.
A firms AFC of producing 2 units of a good is RS.9 & given below is its TC schedule. Calculate its AVC & MC for each of the given level of output.
4
Output:
1
2
3

TC

23
27
30

Q14.
Giving reasons state whether the following statements 
are true or false.
6
a) MU can never increases as consumption increases.

b) Indifference curve convex to the origin due to increasing marginal Rate of transformation.

c) Demand is unitary elastic when the expenditure decreases after a decrease in the price of the commodity.

d) Consumer’s preferences are monotonic, if & only if between any 2 bundles; consumer’s prefers the bundle which has more of at least one of the good & less of the other good as compared to the other bundles.

e) Expenditure method gives an exact numerical value to the elasticity of demand.

f) IC slopes downwards to the right. It means the consumer increases more units of one good (A), he will have to increase the number of units of units of good (B) to maintain the same level of satisfaction.

Q15.
How do markets under perfect competition, Monopoly, Monopolistic competition differs under the following heads.




6
a) Output produced at equilibrium.

b) Demand curve.

OR

Why is the AR curve of a monopolist less elastic than the AR curve of a firm under monopolistic competition? Explain the following features of oligopoly:

a) Barriers to the entry.

b) Non-price competition.

Q16.
Explain the likely behavior of TP & MP when for increasing production only one input is increased while other inputs are kept constant.


6
Section-B

Q17. 
When will there be a revenue deficit in a Govt. Budget.


1
Q18. 
If the total deposits created by commercial banks is Rs. 12,000 crores and legal reserve requirements is 25%, then calculate the amount of initial deposits.









1
 Q19. 
Name the Monetary measure indicated in the following statement.

1
a) RBI advised SBI to stop advertising for home loans in order to discourage lending.

b) Instead of 80%, now 90 % of the security amount will be given as loan.

Q20. 
“When MPC is equal MPS, increase in income will be 2 times the increase in investment.” Comment.







1
Q21.
What is meant by effective demand?





1
Q22.
What is meant by Net factor income from abroad? Briefly discuss its various components.









3
Q23. 
Calculate the operating surplus.






3
	Particulars
	RS. In crores

	Sales
	4000

	Compensation of employees
	800

	Intermediate consumption
	600

	Rent
	400

	Interest
	300

	Net indirect taxes
	500

	Consumption of fixed capital
	200

	Mixed income
	400


Q24.
Sate whether the followings items constitute demand or supply of foreign exchange.









3
a) Bought 500 Pounds to sell for speculation.

b) Foreign tourists to India to visit TajMahel.

c) Donation of 500 Million $ received from Microsoft.

OR

In the following case, indicate which currency is appreciating and which one is depreciating : 

i) A change from 3$ = 2£ to 4$ = 2£

ii) A change from Rs. 95 = 2 US$ to Rs. 150 = 3 US$.

iii) A Change from Rs. 140 = 2£ to Rs. 60 = 1£.

iv) A change from Rs. 25 = 1 Singapore $ to Rs. 20 = 1 Singapore $.

Q25. 
Identify the following as revenue receipts and capital receipts. Give reasons.
3
a) Loan from the world bank



b) Dividend received by Government from a company.

c) Foreign aid against earthquake victims

Q26.
Why are exports included in the estimation of domestic product by the expenditure method? Can GDP be greater than GNP? Give reasons.

3
Q27.
The size of multiplier varies directly with size of the MPC. Defend or refute.
4
Q28. 
Distinguish between 







4
a) Autonomous & Accommodating Items.

b) ‘Balance of current account’& balance of trade.

Q29.
What are the implications of large revenue deficit? Give 2 measures to reduce this deficit.








4
OR

Can there be fiscal deficit in a Govt. Budget without a revenue deficit? Explain

Q30. 
a) Explain any 2 drawbacks of barter system. How does money help in removing these drawbacks?






6
b) How does the central bank acts as banker of the commercial Bank? Explain

Q31. 
The function of savings(S) is given to be :     S= -40 +.25Y


6
If planned investments are RS. 100 crores . Determine a) Equilibrium level of income b) Level of consumption at equilibrium. c) Savings at equilibrium.

Q32.
Calculate National Income by income method & Expenditure method.
6
	Particulars
	Rs. in crores

	Rent
	1500

	Net factor income from abroad
	50

	Wages & salaries
	25000

	Indirect tax
	1000

	Govt. Final Consumption Exp.
	11200

	Subsidies
	300

	Royalty
	200

	Net Exports
	-200

	Interest
	6400

	Corporate tax
	200

	Profit after tax
	4000

	Household final; consumption Exp.
	26000

	Change in stock
	100

	Net domestic fixed capital formation
	600

	Final consumption Exp. of private non-profit institutions serving households 
	300
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